
３ＧＡ－８ かけ算の筆算  １ 

名前           

 

次の 計算を しましょう。 

 

① ３０ × ２ ＝ 

 

② ３００ × ４ ＝ 

         

 

 

 

 

 

 
 



３ＧＡ－８ かけ算の筆算  ➀ 

  名前           

 

次の 計算を しましょう。 

 

① ４０ × ２ ＝ 

 

②  ３００ × ５ ＝ 

         

 

 

 

 

 

 
 



３ＧＡ－８ かけ算の筆算  ２ 

名前           

筆算で 計算しましょう。 

 

➀ ２３ × ２ 

 

 

 

 

➁ １２ × ３ 

 

 

 

 
 

 

 

  

× 

２ ３ 

２ 

  

× 

１ ２ 

３ 



３ＧＡ－８ かけ算の筆算 ➁ 

名前           

 筆算で 計算しましょう。 

 

➀ ２４ × ２    

 

 

 

 

➁ １２ × ４ 

 

 

   

 
 

 

 

  

× 

２ ４ 

２ 

  

× 

１ ２ 

４ 



３ＧＡ－８ かけ算の筆算  3 

名前           

筆算で 計算しましょう。 

 

➀ ４１ × ６ 

 

 

 

 

➁ ６４ × ３ 

 

 

 

 
 

 

 

  

× 

  

 

  

× 

 
 

 

 

 

 



３ＧＡ－８ かけ算の筆算 ③ 

名前           

 筆算で 計算しましょう。 

 

➀ ６１ × ４    

 

 

 

 

➁ ８４ × ３ 

 

 

   

 
 

 

 

  

× 

  

 

  

× 

  



３ＧＡ－８ かけ算の筆算  ４ 

名前           

筆算で 計算しましょう。 

 

➀ ６９ × ６ 

 

 

 

 

➁ ８８ × ７ 

 

 

 

 
 

 

 

  

× 

  

 

  

× 

 
 

 

 

 

 



３ＧＡ－８ かけ算の筆算 ④ 

名前           

 筆算で 計算しましょう。 

 

➀ ４５ × ７    

 

 

 

 

➁ ６７ × ８ 

 

 

   

 
 

 

 

  

× 

  

 

  

× 

  



３ＧＡ－８ かけ算の筆算 ５ 

 名前           

筆算で 計算しましょう。 

 

➀ ２１４ × ２      

 

             ×       

 

 

➁ １３３ × ３ 

 

             ×       

 

 

 

 

 

 

 



３ＧＡ－８  かけ算の筆算 ⑤ 

  名前           

筆算で 計算しましょう。 

 

➀ １３４ × ２      

 

             ×       

 

 

➁ ３２１ × ３ 

 

             ×       

 

 
 

 

 

 

 



３ＧＡ－８  かけ算の筆算 ６ 

   名前           

          

 筆算で 計算しましょう。 

➀ ４６５ × ３      

 

             ×       

 

 

➁ ６３４ × ３ 

 

             ×       

 

 
 

 

 

 

 



３ＧＡ－８  かけ算の筆算 ⑥ 

   名前           

          

 筆算で 計算しましょう。 

➀ ３４６ × ４      

 

             ×       

 

 

➁ ４６７ × ９ 

 

             ×       

 

 
 

 

 

 

 



３ＧＡ－８  かけ算の筆算 ７ 

  名前           

          

 筆算で 計算しましょう。 

➀ ５８０ × ４      

 

             ×       

 

 

➁ ４０７ × ８ 

 

             ×       

 

 
 

 

 

 

 



３ＧＡ－８  かけ算の筆算 ⑦ 

  名前           

 

 筆算で 計算しましょう。 

➀ ２９０ × ６      

 

             ×       

 

 

➁ ４００ × ７ 

 

             ×       

 

 

 
 

 

 



３ＧＡ－８  かけ算の筆算 ８ 

  名前           

 

 暗算で 計算しましょう。 

 

① ４６ × ２ ＝ 

 

 

② ３５ × ６ ＝ 

 

 

 

 

 
 

 

 



３ＧＡ－８  かけ算の筆算 ⑧ 

 名前           

          

 暗算で 計算しましょう。 

 

①  １５ × ５ ＝ 

 

 

②  ６９ × ３ ＝                                      

                                                     


